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:1— Colour. Boyauiniz

banana grapes strc:wberry watermelon
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cherr‘g orange melon cepple

pec:ch kiwi pear
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é— Match. Eslestiriniz

1. orange

7. banana

3. peach

‘. pear

5. cherry

6. strawberry
7. grapefruit
3. kiwi

9, grapes
10. watermelon
11 melon
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E’)— Colour bg the code. FR
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The bananas are yellow.

The apple is green.

The watermelon is green and black.
The grapes are purple.

The pear is green.

The peaches are orange and pink.
The cherries are red.

The strc:wberry is pink.
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The kiwi is brown.

S

The 9rc:pefruit is orange.
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4- Write. Y

* banana
* grapes
* pear

* peach
* kiwi

* melon

* watermelon

Kelimeleri ezberle , UNUTMA...

e c:pple

é * strawberry

* orcmge

* 9rc:pefruit
% cherrg

&




= Sinava hazirlaniyoruz...
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5- Cut and stick. Kesiniz ve yapistiriniz

ordnge

cherrg

strc:wberrg

kiwi

banana

grapes

cpple




Kelimeleri unutma...

FRUTIS

banana Q ..........................

grapes >,
strc:wberry
9rc|pefruit
cherry

orange
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watermelon
melon
kiwi

apple
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. peach
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; pecr




7- Do the crassword.
Bulmacay ¢6zunuz




WORKSHEET

1= What is this? 5-Which one is correct?
' Hangisi dogrudur?

A) It is a watermelon.

B) It is a melon.

C) It is an orange.

2- What colour is it?

A) It is red.
B) It is black.
C) It is yellow.

6 It is a melon.

s- Q6
A T B)

) w
7-Which one is a fruit?

4~ What fruit is this? ~ Hangisi bir meyvedir?

A) grapes A table
B) strawberry B) cherry
C) lemon C) rabbit
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1= What colour is it? 5-Which one is different according
A) It is blue. ; to their size? angisi bogut
B) It i red olarak digerlerinden farklidir?
C) Itis Hellow. A) melon
B) grapes
2 It is orange. N strawberry

Whicb option is inaPpltppriate? 6-The3 are
Hangi sk, yukaridaki clmleyle
iliskil degildir?
A)g B)

~~—~_ A) lemon - melon

B) pear - peach

C) grapes - apple

 7-What colour is the watermelon?

3= . A) red - blue
B) black - green
A) grapes - cherrg - apple s Q) Hellow - orange

B) strawberrg - lemon - pear

 8-What is this?
: A) It is a pear.

C) melon - banana - peach

B) It is a banana.

Z— Which one is different according : C) It is an Clpple.

to their colours? Hangisi rengine

gére digerlerinden farklidir? - 9-What colour is the kiwi?
A) cherrg A) It is brown and green.
B) strawberrg B) It is red and green.

C) watermelon O ltis yellow and blue.




